5760
3130 , 2630
T
65 6X500=3000 130 5X500=2500 65
O o
p=d =
75 S
s
[Wg]
— LN
—=arg
O
i
=
S
A A
AROSEO AROSEO =
100 625 2813 625 |48 2342 L8 100
192
5768
5920
80 5760 80
{l il
@
N
n
o
O
S =
=
@ — —
VvV ER Xk
VG.L
ME>+ v 39— L

Sk ZB oo % M (ME) B{imm
1 TE# F12 1.2
2 | HEIEE F12 2.3
3 | HFEig F12 1.6
L | HPEE F12 1.2+1.6
5 | #&EE F12 16
6 | P F12 1.2+1.6
T | BE#1® 718 2.3
8 | RPREAEE F12 3.2
9 | Hrgil Y10 1.6
10 | Hie Y10 1.6
1 | RE4E Y10 1.0
12 | Rl F12 2.0+3.2
13 | ot F12 2.0+3.2
b | ROERIR Y10 1.0
15 | FHRAON- F12 2.3
16 | BPHN- Y10 0.7
17 | BEPR F12 1.6
18 | BB F12 1.6+2.3
19 | BRASXI Y10 05
20 | BERREM (FHM)-BlE- [RUIFL VI3 -4 40
21 | BRIV F12 0.7
22 | EREE Y10 0.7
23 | EREIE Y10 0.7
2L | O—F—%28 F12 2.3
25 | A% F12 1.2
26 | vy g9—(RSv k) 708 0.5
21 | 2+ v 9—hAN— F12 0.7
28 | Yy aI—L—)b TV ASEBETM
29 | A+ ys—L—Jb FIIZDLLLPETM
30 | L—Jbi6HER TFIIZDABERBTM
F12- 8@ s o HR(JIS G 3302)

Y10 BRMEHR-5%TIVIZDAEED> H/R(JIS G 3317)
208~ 2EAREIND > MRS G 3312)
218> — & ARRE IS G 3466)

2960

6555
| 140 6275 140
‘—L 1000
SR S
L
=
Q| A >
3

AR

HiE4A

<HsR> S=1/60

~BEL~

GRN—3126-62J

O&E#BEO~T%:2813(2342] x 2418(mm) ORI #5:36.14m (10.951F)

i 2% Fig 3% BU1E PR




